MUNICIPIO DE ABELARDO LUZ
ESTADO DE SANTA CATARINA
PROCESSO SELETIVO 001/2019
12 DE JANEIRO DE 2020

PROFESSOR DE INGLES

INSTRUCOES

Este Caderno de Questdes contém 30 (trinta) questdes, constituidas com cinco opcdes (A,
B, C, D, E) e uma Unica resposta correta. Em caso de divergéncia de dados e/ou de defeito
no Caderno de Questdes, solicite providéncias ao fiscal de sala.

Vocé recebera o Cartdo Resposta, no qual serdo transcritas as respostas do Caderno de
Questdes, com caneta esferografica de tinta azul ou preta, de acordo com as orientacGes de
preenchimento contidas nele.

Apdbs o preenchimento do Cartdo Resposta com as respostas do Caderno de Questdes, 0
candidato devera assinar o mesmo.

Durante a realizacdo das provas é vedado:

a) consultar livros, cddigos, manuais, impressos ou quaisquer anotacdes ou
equipamentos eletronicos;

b) a comunicacgéo entre os candidatos;

C) ausentar-se da sala sem a companhia de um fiscal;

d) a ingestdo de alimentos e bebidas, com excecdo de agua acondicionada em
embalagem plastica transparente sem rétulos e/ou etiquetas;

e) entregar a prova e o cartdo resposta antes de decorrida 45 (quarenta e cinco) minutos
do seu inicio.

f) o uso de relégio de qualquer tipo e aparelhos telefonicos, qualquer equipamento
elétrico ou eletrdnico, bonés, chapéus e porte de qualquer tipo de arma.

A interpretacdo das questdes é parte integrante da prova, ndo sendo permitido aos fiscais
de sala auxiliar na interpretagéo.

A saida da sala de prova, com a entrega do Caderno de Questdes e Cartdo Resposta,
somente sera permitida depois de transcorrido 45 minutos do inicio da mesma.

Ao concluir a prova e o preenchimento do Cartdo Resposta, entregue o Caderno de
Questdes e o Cartdo Resposta ao fiscal de sala. A ndo entrega de qualquer um dos itens
especificados acima, implicara na eliminagéo do candidato do Concurso Publico.

O tempo de duracdo total da prova € de trés(03) horas, incluido o tempo para
preenchimento do Cartdo Resposta.

Os 3 ultimos candidatos ao terminarem a prova deverdo permanecer juntos em sala
para, juntamente com os fiscais de sala assinar a folha ata, o verso dos cartbes
respostas, o lacre dos envelopes que guardarao os Cartdes Resposta.



Portugués

01)O uso indevido de uma palavra parénima faz com que uma das frases abaixo fique
sem coeréncia...... Marque-a:

a) O juiz absolveu o réu.

b) Sempre fora um homem fragrante.

¢) A menina descreveu o sequestrador com detalhes.

d) O prefeito retificou a presenca no evento.

e) O cavaleiro era da tribo rival.

02) A alternativa em que pelos menos uma das palavras esté grafada incorretamente é:
a) enxada — canjica - majestade

b) deslizar — engessado - vertigem

c) pedagio — hospitalisar - enxame

d) litigio — magreza - xingar

e) subterfugio — poetisa — hipoteca

03) Dadas as frases:

1-Nao entendi certos apontamentos.

2- Os apontamentos certos fazem a diferenca.

Os termos em destaque nas sentengas acima séo classificados, de acordo com o contexto
em que estdo inseridos, respectivamente como:

a) ambos adjetivos

b) pronome indefinido e adjetivo

c¢) pronome definido e substantivo

d) adjetivo e substantivo

e) substantivo e adjetivo

04) A concordancia nominal esta incorreta em:

a) Agua mineral é boa.

b) E proibida a entrada de criangas no espaco.

c) Bastantes pessoas se encontraram na convencao.
d) Escolheste ma hora para dar a noticia.

e) Estava tranquilo 0 menino e a menina.

05) Analise as sentencas:
I-Fomos ate a (a) feira da cidade.
I1- Caminhava as (as) pressas pela rua.

Em relacdo ao emprego da crase:

a) Em | e proibido o emprego da crase e em Il € facultativo
b) Em | é obrigatério e em |1 facultativo.

¢) Nas duas sentencas é obrigatorio.

d) Nas duas sentencas é facultativo.

e)Em | é facultativo e em Il é obrigatorio.



Matematica

6) A professora Marta passou no quadro as seguintes opera¢fes matematicas:

) 72+8+(3x1)+2
1) 76 — 2 x [100 + (3 X 6 — 8) + 10]
1) 9 x (10 + 2)

Veja na tabela abaixo os resultados obtidos por alguns dos seus alunos

I I i
ALESSANDRO 3 36 92
GUSTAVO 5 36 92
LEONARDO 5 36 108
MARTINA 3 24 108

Qual dos seus alunos acertou todas as operacdes matematicas:
(@) ALESSANDRO  (b) GUSTAVO (c) LEONARDO (d) MARTINA
(e) Nenhuma das respostas anteriores

7) Uma industria possui 6 maquinas e produz 2784 pecas em 8 horas de trabalho
diérios. Se essa industria comprar mais 2 maquinas idénticas as que ja tem e passar a
trabalhar 10 horas dias de quanto seré a producdo diaria?

(a) 4640 pegas. (b) 5642 pecas. (c) 3648 pegas. (d) 3898 pecas.
(e) 6820 pecas.

8) Um campo de futebol tem 84m de comprimento e 58,5 m de largura. Para poder
realizar torneios oficiais esse campo deve ser aumentado no minimo em 16m em seu
comprimento e 5,5m em sua largura. Quantos metros quadrados a mais tera 0 campo
com essas novas medidas?

() 900 m2.  (b) 980mz.  (c) 1216m2.  (d) 1324m2.  (e) 1486m2,

9) Leonardo aplicou R$ 64.000,00 em um investimento que rende 0,5% ao més na
modalidade de juro composto. Se Leonardo resgatar 0 montante apos 3 meses qual o
valor aproximado que ele resgatara

(a) R$ 64.964,81.  (b) R$65.112,23.  (c) R$ 65.084,36.(d) R$ 64.988,42.

(€) R$ 65.212,22.



10) A soma de dois nimeros distintos € igual a 74. A diferenca entre 0 maior e 0 menor
desses nimeros é igual a 22. Com base nessas informacfes qual € o maior desses
ndmeros?

(2) 38 (b) 40 (c) 41 (d) 48 (e) 46

Conhecimentos Especificos

Read the text below and answer the questions 11 to 18:

AUSTRALIA FIRES WORSEN AS EVERY STATE HITS 40C
Scores of fires are burning out of control across Australia amid a heatwave that
has seen temperatures exceed 40C (104F) in every state.

The most dangerous fires on Monday were in the state of Victoria.

About 30,000 residents and tourists were urged to flee East Gippsland - a
popular holiday region - but evacuations were later deemed too risky as fires
encroached on major roads.

A volunteer firefighter died battling a blaze in the state of New South Wales.

In total, 10 people have died in the nation's bushfire crisis since September.

Meteorologists say a climate system in the Indian Ocean, known as the dipole, is
the main driver behind the extreme heat in Australia.

What happened to the firefighter?

Authorities said the volunteer firefighter was killed and two others suffered
burns after their truck rolled over in extreme winds while they were battling a blaze east
of the city of Albury.

New South Wales (NSW) Premier Gladys Berejiklian described the death as
"heartbreaking".

"Words fail at times like this,"” she wrote on Twitter.

Australian Prime Minister Scott Morrison said another firefighter was injured in
a separate vehicle.

"This is awful news for the families and our sympathies are with them. These are
testing times. We are so grateful for the courage and dedication of our firefighters," he
tweeted.

The volunteer firefighter is the third to be killed so far this fire season. Two
volunteer firefighters, both fathers to young children, died on 19 December battling a
blaze near Sydney.

Prime Minister Morrison was widely criticised for being abroad on holiday at
the time, and returned home early.

[..]

Available at https://www.bbc.com/news/world-australia-50938504. Accessed on
December 30", 2019.

11-According to the text:
I-Victoria, a tourist in Australia, says the state of the place is unfortunate after the fire.


https://www.bbc.co.uk/news/world-australia-50850386
https://www.bbc.co.uk/news/world-australia-50850386
https://www.bbc.com/news/world-australia-50938504

I1- The prime minister of New South Wales wrote that for him, the firefighter's death
was like "heartbreaking."”

I11- Approximately three thousand people had to be evacuated.

IV- In addition to this firefighter who died in the New South Wales fire, two others also
lost their lives this season of fire.

The correct sentences are:
a)Only Il and IV.

b)Only I and I11.

c)Only Il

d)Only 1V.

e)Only Il and II1.

12- “...Australia amid a heatwave...” The underlined word means:
a) feeds

b) confront

C) against

d) in the middle of

e) suffers

13-In the title, the word WORSEN is a/an:
a)verb

b)adverb

c)adjective

d)conjunction

e)preposition

14- <. .both fathers to young children... ” The words in bold are in the plural form. Mark
the alternative where all the words are in the plural form:

a) people- wives-

b) toys- heroes- shelfes

¢) media- species- avocadoes

d) goose- dices- firewoman

e) sheep- feet- lice

15- “...died on 19 December..” The preposition ON was incorrectly used in:
a)On the Internet | can find many images.

b)My birthday is on June.

c¢)She is on the phone.

d)I go to the gym on Mondays.

e)The papers are on the coffee table.

16- CRITICISED is a word with two forms of writing, the American and the British, as
many others. The incorrect pair of word with two forms is:

a) traveler/ traveller

b) honor/ honour

¢) physician/ physics

d) theater/ theatre

e) catalog/ catalogue


https://www.bbc.co.uk/news/world-australia-50850386

17-"This is awful news for the families and our sympathies are with them.” THEM
refers to:

a) sympathies

b) news

c) families

d) awful

e) our

18- “...another firefighter was injured in a separate vehicle.” The fragment shows an
example of Passive Voice. The correct form of the next sentence in Passive Voice is:
The nurse has abandoned the patients.

a)The patients has been abandoned by the nurse.

b)The patients were abandoned by the nurse.

¢)By the nurse the patients were abandoned.

d)The patients have being abandoned by the nurse.

e)The patients have been abandonded by the nurse.

19-The stranger said: How long is the film? In the Reported Speech the previous
sentence is:

a)The stranger asked how long the film was.

b)The stranger asked how long was the film.

c)The stranger said the film was how long.

d)The stranger said how long is the film.

e)The stranger told how long is the film.

20-Mark the option whose tag question is wrong:
a)People have fought for their rights, haven’t they?
b)The man had many stories, hadn’t he?

c)Kids have energy to play, don’t they?

d) The actress has been sick, hasnt she?

e)Bob has curly hair, doesn’t he?

For the questions 21 to 25 use the poem below:
Eating Poetry
(Mark Strand)

Ink runs from the corners of my mouth.
There is no happiness like mine.
I have been eating poetry.

The librarian does not believe what she sees.
Her eyes are sad
and she walks with her hands in her dress.

The poems are gone.
The light is dim.
The dogs are on the basement stairs and coming up.

Their eyeballs roll,
their blond legs burn like brush.
The poor librarian begins to stamp her feet and weep.



She does not understand.
When | get on my knees and lick her hand,
she screams.

I am a new man.
I snarl at her and bark.
I romp with joy in the bookish dark.

Available at: https://www.poetryfoundation.org/poems/52959/eating-poetry Accessed
on December 30", 2019.

21-About the poem use TRUE (T) or FALSE (F):

() Describes a speaker who is literally eating poetry.

( )The most important aspect to consider in understanding this poem is the metaphor
behind the act of eating a poem.

() The action of eating poetry is for the poet something that makes him happy.

() Strand uses short sentences and highlights one of the most common types of simple
English sentences: subject, verb, object.

Respectively, the order is:
AT-F-T-T

b)T-F-F- T

OT-T-F-F
dT-T-T-T
e)T-T-F-F
22-“...n0 happiness like mine.” Mine is a possessive pronoun. As the use of possessive
pronouns, which sentence is incorrect?

a)My house is new and theirs, too.

b)This dog is one of yours?

c)That jacket is his.

d)The yellow car is ours.

e)My English is better than her.

23- “l snarl at her and bark.” The best translation for the highlighted verb is:
a)rosnar

b)encarar

c)roncar

d)morder

e)enfrentar

24-“The light is dim.” The opposite of the underlined word is:
a)bright

b)gloomy

c)dismal

d)overcast

e)murky

25- “The poems are gone.” Gone is the Past Participle of the verb Go and of the verb
Tear is:


https://www.poetryfoundation.org/poems/52959/eating-poetry

a)tore
b)tearn
c)toren
d)tears
e)torn

26-Which alternative is wrong as the use of the Present Perfect:
a)l’m not hungry. I"ve eaten some biscuits.

b)I have seen the President on TV several times.

c) He has been arriving early lately.

d)Sarah has visited her friends last week.

e)The children have read all the books of the box.

27-The doctor ordered: You __ stop drinking beer. The modal verb that better
completes the previous sentence is:

a)will

b)must

c)should

d)might

e)could

28- Complete the sentences with one of the parenthesis options:

a)Some teenagers suffer from drugs . (addiction/ addition)

b)That is a beach. (particular/private)

c)The people had stopped that the Earth was the center of the universe.
(assuming/acquiring)

d)Women and children are their rights around the world. (reclaiming/
complaining)

The correct order is:

a)addiction-private- assuming- reclaiming
b)addiction- particular- assuming- reclaiming
c)addition- private- assuming- complaining
d)addition- particular-acquiring- complaining
e)addiction- private- acquiring- complaining

29- Which of the explanations at the end of the sentence is incorrect:

a) If Paul travels, he will know many countries. (First Conditional)

b) If Paul traveled, he would knew many countries.(Second Conditional)

¢) If Paul had traveled, he would have known many countries.(Third Conditional)
d) If Paul travels, he knows many countries. (First Conditional)

e) If Paul travels, ask him to come back soon. (Zero Conditional)

30- Tick the incorrect alternative to translate the phrasal verbs:
a)cut back=reduce

b)count on=relay on

c)eat up= finish meal

d)freak out= get angry

e)hand out= push away opponent



